WRITE YOUR NAME:

MAC 2313 B51 Spring 2024

Written homework #2
Due Tuesday January 23rd, in Canvas

Question 1. Evaluate the cross product of the vectors u = (1,2,3) and
v = {~1,0,2}. Also evaluate (u X v) - v, and explain why it is equal to zero.
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Question 2. Find the area of the parallelogram that has the vectors u =
(3,—1,0) and v = (0, 3,2) as two of its adjacent sides.
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Question 3. Find both the vector equation and the parametric equations of
the line through (—3,4,2) that is perpendicular to both u = (1,1, —5) and
v ={0,4,0).

We can 35(’ 2 ditechon p@f/)&m’icfx(ar'fo both & and V
usmﬂ The cross product:

- L - L
Wxyv = /l TJ c | T <0-—(—-20), 0—0, 4-0>
O 4 O = {20 0, %)

I we want we can use any  Scalar maulBple as our Aifecton Vector,
So we could also use <5 0, 1> if we yunt.
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Question 4. Find the equation of the plane passing through the points
(0,1,0), (2,1,4), and (-2, 1,0).
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Aﬂﬂ Sealad mu H-()e can also be used as a normal vector.
So we could use <0, 1,0 .
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ANSWER : The equaton of the plane s Y- 1
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